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(b)  Subiract 532 from 700.
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WJEC GCSE MATHEMATICS

SUMMER 2019 MARK SCHEME

GCSE MATHEMATICS Mark Comments

Unit 1 Foundation Tier

1(a) 4523 B1

1(b) 168 B1

1(c) 1, 3,9, 27 B2 B1 for 2 correct and 0 wrong
OR B1 for 3 correct and 0 or 1 wrong
OR B1 for 4 correct and 1 wrong
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Sticky Note

A common error was to subtract the smaller digit from the larger digit in any column, irrespective of which number these digits were in. B0










(b) Subtract 532 from 700.
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Sticky Note

This answer indicates the continuing problem of subtracting from a number with two zeros.










(b)  Subiract 532 from 700.

700
532,




Sticky Note

This shows the partially-remembered method of 'borrowing' from one column in the upper number to increase the next number to the right by 10. The need to borrow from the 10s column was forgotten despite the units number being increased by 10. B0










(b) Subtract 532 from 700. [1]
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The shape above has been drawn on a square grid.
Each square represents an area of 5¢cm?.

Estimate the total area of the shape.

You must show all your working.
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The shape above has been drawn on a square grid.
Each square represents an area of 5cm?.

Estimate the total area of the shape.

You must show all your working.
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The shape above has been drawn on a square grid.
Each square represents an area of 5cm2,

Estimate the total area of the shape.

You must show all your working.
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2(a) Evidence of counting squares M1
32 — 42 inclusive A1
160 — 210 (cm?) B1 FT ‘their number of squares’ x 5 evaluated correctly
Award 3 marks for an unsupported answer between
160 and 210 inclusive.
Mark final answer
Accuracy in writing W1 | For W1, candidates will be expected to:
e show all their working
e make few, if any, errors in spelling,
punctuation and grammar
e use correct mathematical form in their
working
e use appropriate terminology, units, etc
2(b
[ e B1
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The shape above has been drawn on a square grid.
Each square represents an area of 5¢cm?.

Estimate the total area of the shape.

You must show all your working.
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Sticky Note

The number of squares has been given within the acceptable range but no further calculation has been done to work out the total area of the shape. 
M1 A1 B0 W0
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The shape above has been drawn on a square grid.
Each square represents an area of 5cme.
Estimate the total area of the shape.
You must show all your working. [3+1W]
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Sticky Note

The number of squares counted is within the acceptable range but the answer to the calculation of multiplying this number by 5 is incorrect. No statement of the sum (36 x 5) has been written down although the units are seen. M1 A1 B0 W0
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Each square represents an area of 5emZ.
Estimate the total area of the shape.
You must show all your working.
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The shape above has been drawn on a square grid.

[3+1W]
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Sticky Note

This answer would have been awarded full marks if 38 x 5 had been calculated correctly. W1 is awarded for both stating the calculation correctly and including the units of area. M1 A1 B0 W1










Examiner

|
2. (a) In this part of the question, you will be assessed on the quality of your linguistic and o

mathematical accuracy in writing.
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The shape above has been drawn on a square grid.

Each square represents an area of 5cm?.

Estimate the total area of the shape.

You must show all your working. [3+1W]
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(c) Write down the value of /49 .

=

N L H 8 T e e S S R L LR LEE ] EE LR R R R SR R L e b g fe e nmmend e











fe) Write down the value of 49 .











fc) Write down the value of /49 .











5(a) 481-63 B1 Do not accept 481-630

5(b) 64 B1

5(c) 7 B1 Do not accept 7x7 or 7x7=49 alone.
5(d) (0)-03825 B1











OER Q5(c)

(c) Write down the value of /49 .
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Sticky Note

This is the only acceptable correct answer. B1










(c) Write down the value of /49 .
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Sticky Note

This gained B0.










fc) Write down the value of /49 .




Sticky Note

This gained B0.










(c) Write down the value of 49 . 1]

" A " P Ry raw











10

7. In this question, you will be assessed on the quality of your organisation and communication.

Two rectangles are shown in the diagram below.

4cm 20cm

2cm

6cm

Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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(d)

Draw a bar chart to display the favourite sports of the 60 people.
Use the grid below. [3]

A

Space for working:

09
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Examiner
only
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(b) Subtract 532 from 700.
i Z00.~ 500 2200
Fo0 ~ 22 = 168




Sticky Note

This was a useful method but, unfortunately, the correct answer was added to a number in the working. B0










(b) Subtract 532 from 700.
700.- 500 =200
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Sticky Note

This answer shows that the number of people who like football is 60. However, this is the total of all the people surveyed so is an impossible answer. The candidate has labelled the vertical and horizontal axes, and marked the vertical scale correctly. B1 B1 B0
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Sticky Note

The vertical scale is wrong as it is marked in 5s but goes from 20 to 30, omitting 25. The vertical scale is not labelled but the bars are drawn correctly. B0 B0 B1
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Sticky Note

This is a fully correct answer and has a title too. However, no extra credit is given for this. B3
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Sticky Note

The bars are not all the same width so the third B mark cannot be awarded despite them being the correct height.










OER Q7

E Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangies must not overlap and there must be no space left.
You must show all your :v;orking. [3+10C]
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E Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangies must not overlap and there must be no space left.
You must show all your :v;orking. [3+10C]
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Sticky Note

A very common error was to work out correctly that  5 rectangles would fit across the top and three down the side but then add 5 and 3 instead of multiplying them. 
For the OC mark, the numbers 5 and 3 had to be labelled across and down appropriately. These labels are missing from this example. B1 M0 A0 OC0
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Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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Sticky Note

This method uses the areas of the two rectangles. The numerical method and answer are correct. However, the word 'area' was essential to be awarded the OC mark. It is missing here. B1 M1 A1 OC0










Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left,
You must show all your working. [3+10C]
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Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left,
You must show all your working. [3+10C]
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Sticky Note

Correct calculation but no labelling of 'across' and 'down'. B1 M1 A1 OC0
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How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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Sticky Note

This correct answer is awarded full marks. B1 M1 A1 OC1










7.(Number across = 20+4=)5

OR ( Number down =6+2 =) 3 B1 Sight of 5 or 3, not in incorrect statement or working
(Total number of small rectangles =) 5x 3 M1 | FT ‘their stated across and down’
15 A1 CAO
7. Alternative method
(Area rectangle A=2x4=) 8 (cm?) OR
(Area rectangle B=6x20=) 120 (cm?) B1 Sight of 8 or 120, not in incorrect statement or
working
(No. of rectangle A=) 120 + 8 M1 | FT ‘their stated areas’
15 A1 CAO
Organisation and Communication OC1 | For OC1, candidates will be expected to:
e present their response in a structured way
e explain to the reader what they are doing at
each step of their response
¢ lay out their explanation and working in a way
that is clear and logical
e write a conclusion that draws together their
results and explains what their answer means
2
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Ribbon mark 6(a),(b),(c),(d)

6(a) Football B1

Ribbon mark 6(a),(b),(c),(d)

6(b) 1/4 or equivalent ISW B1 Do not accept incorrect notation; e.g. 1in 4,1 out of 4,
1:4.

Ribbon mark 6(a),(b),(c),(d)

6(c) 1/4 x 60 M1

15 A1 Accept 15 out of 60.

Award SC1 only, for a final answer of 15/60

Ribbon mark 6(a),(b),(c),(d)

6(d) Correctly labelled axes. B1 | Vertical axis labelled 'number (of people)' or ‘people’
or ‘frequency’ AND horizontal axis marked with the

Uniform scale starting from zero. B1 sports.

Correct equal width bars for football, swimming and B1

tennis.

Correct heights for ‘their scale’ (30 and 15)

FT their (c) if possible:

‘their swimming’ = ‘their tennis’ AND

either ‘their football’ = 2 x ‘their tennis’ or ‘their
football’ = 60 — 2 x ‘their tennis’.

If no scale visible, allow final B1 for bars drawn in
correct proportions.

Z (Nliimbhar arrace — 20=A=\ &








